PreCalculus Honors ’16-17 Name: Secuvmnsd Ke e
Dr. Quattrin

Radical Functions Test

CALCULATOR ALLOWED Score  £O
Round to 3 decimal places. Show all work.

1. If f(x) be the function f(x)= (x —3) f2)=h (&1—3) - dx

a W) (b)) an(l) e  4rQ2) 4 K(4) e 4K(4)
ay - 0 + 0

2. Given this sign pattern a!x

what value of x does fhave a local nﬁ‘? U \

(@ -2 ) —vZ () V2 All of these (¢) None of these

3.  Asidewalk and a road cross at right angles. An observer stands on the
sidewalk 40 meters south of the crossing and watches an eastbound car traveling at
50 meters per second. At how many meter per second is the car moving away
from the observer 4 seconds after it passes through the intersection?

a) 50.00 @ 49.03 c) 51.02 d) 49.22 e) 64.03
. EB=X
Yo
c(t

2 (u-c)(m) =2(Gre ) &



\ =
h (@ =2 (;-Lf\ (=)
4. If h(x)z( 4)/+1 then the value of h’
ay 3 b) ‘ O dne
5. Consider the closed curve in the x-y plane given by 2x? +5x+ y* + y=38.
Which of the following is correct: /l
Yx +5 t th a3 @
(a) dy _  4x+5 (b) dy _ 4x+5 cf)t
dx 8x+2y+1 dx 2y+1 ,
dy — e =D
dy _ 4x+5 dy _ 4x+5 o
(©) dx  8x+2y (d) dx 8x+2y ?"I *
dy __4x+5
dx 2y+1




6. Given the functions f(x)and g(x) that are both continuous and

differentiable, and that have values given on the table below.

¥ S () () g(x) ¢'(x)
2 4 2 8 1
4 10 8 - 3
8 6 .12 2 4

Given that h(x)=f(g(x)), h'(8)= £ f(‘z,\ . 3( (%) - (..—2,\ ("{\ ==

a) -12 b)

=2

c)

—@ =i e) 10

7 Find the absolute minimum value of y =+36—x* on the interval x € [—2, 2] ;

a) 2 b)o ¢) 0 4\[2‘ o) 6
C’LL iy 07 X=o
C = | ! — —Zw) = .
y &)= 6 ) z(%L <) () E"v&:”%
32) = HiZ AT

i) EP w2tz
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Dr. Quattrin

Radical Functions Test -- CALCULATOR ALLOWED

Round to 3 decimal places. Score L O
Show all work.

1. Find the zeros and Domain of y=+v—x3+10x>—24x. Show the algebraic
work to support the zeros and critical values. L
~$cé$¢¢f— [ Ox +7—~"i>

Zeros: {Drd) i@: 2 ())( (f— 1%,0) SR (VLB
Domain:(_ & - \]'éj\) [1\ g [‘n J—;]

4 +0-D+ O~ O
& —— : v
¢

)Q - {é — 8]

—

=

A

" 1°

2. Find the Extreme Points of y=+v—x>+10x>—24x. Show the algebraic work
to support the zeros and critical values.

ExtremePointS:(rzéb 1(5&’\ ST, (-.435 3.8 35) (7.2+ 7, [.49%)

dlj =y
e \ - T * 2 o :
=~ —\7 X +10%’ -2y =S 430 . F~>y
L) - S 430.2-242D = @ =302 Jag2oul5)ed €957

— [e . ULY(?

_ 4+ CGc3z £ .
<< —'-—u(-‘lgq‘l b?aw?gx-:\,q‘?“S-’le{*T

o) %D.«/fi =x= /0 % Ve 22



X —16
-3

3. Find the zeros, VAs, and domain of y=— on x€[-5,6]. Show the

Algebra that supports your answer.

Zeros: ﬂi:é; L—(\D\ VAs: @ =[5
Domain: o : : L
omain . )’_"5('1] e C—\E, \{'g) u[ut‘(g)

2 ——
4. Find the Extreme Points of y=— J;z _136 on x € [—5, 6] . Show the Algebra

that supports your, answer. ,;‘%)

Extreme Points: %)’—-ﬂ\ ( 7 D) [’b o L‘ﬂu) ((d }‘.}p)

éﬁ _ _\ x -1 VL[‘({( -8) () gﬂn,\zo — 2bx
= 2 yz‘a gt o

BTN 2N (& ™



5. Darth Vader is pursuing Luke Skywalker in an Imperial Tie Fighter. He is
travelling in a straight line at 150 million meters per second. He is 40 million
meters from the intercept point, and Han Solo is moving on an intercept course
perpendicular to Darth Vader’s course. His ship, the Millennium Falcon is
cruising at 75 million meters per second to avoid sensor detection, and he is 20
million meters from the intercept point. Darth Vader’s sensors are tuned to detect
anything approaching his vessel with a direct speed of greater than 120 million
meters per second. Does the Millennium Falcon escape detection or not?

Intercept

Point e if'lilllenni'um
‘ , ﬂ alcon
fj ’// X,‘?- 2 2
/,,,l (— -t-(j) : r
i .A* dy A
Tie Fighter __CI—{; e j ._C(._-—b - _;w_
= = 1D % , 'a‘g, - A
i R (e) +B (o) = Jaad
B Ty o Yo
d dr _ P
= s " = L b0
de
W 2D (A

%7 = 8ZE [



6. A particular velocity function is given by the equation

v(t)= BJ[[HTMJF BrJ% —4

acceleration?

. 2 na L{/?)
i Tl % << \xx:m* Qh_q < ( 436)
(' ©)

where 4 and B are. What is the equation for the

3’\5 (U‘ L-’U)‘\’?)A) _ -
A/ nl L 3R, "z(m
: < ,fa -r?)t) L{\ A
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Show all work.

7. Find the traits and sketch y= V=1 +10x3-24x .

Domain: S z< 4 | Range: Y & [C \ 00>

¥ JHiE; ( O ; 0 ) |

Zeros: sgq 4 | Extreme Points: Sy 42
End Behavior (Left): U'f End Behavior (Right): = opig




2 _
8.  List the traits and sketch of y=—|% L S e[-5,6].

x*-3
Domain: < 2¢ 462 Range: 3 é‘(, o :—753 J E\:ﬂ% ‘ b—l
Y — Int: CU/"{?) VAs: :_..“:J_g
Zeros: (l‘ ) Extreme Points: Sse¢ 4= Y

End Behavior (Left): sdp-juz

End Behavior (Right): rosJ€




